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Atomic Mass Worksheet

1. Nitrogen has two naturally occurring isotopes, N-14 and N-15.  The atomic mass of nitrogen is 14.007 amu.  Which isotope is more abundant in nature? Explain. 

2. Silver has two naturally occurring isotopes. Ag-107 has an abundance of 51.82% and a mass of 106.9 amu.  Ag-109 has a relative abundance of 48.18% and a mass of 108.9 amu.  Calculate the atomic mass of silver.

3. Magnesium consists of three isotopes with masses of 23.98 (78.6%), 24.98 (10.1%), and 25.98 (11.3%).  Calculate the atomic mass of Mg. 

4. What is the atomic mass of silicon if 92.21% of its atoms have a mass of 27.977 amu; 4.70% have a mass of 28.976 amu, and 3.09% have a mass of 29.974 amu?

5. Calculate the atomic mass of titanium. The five titanium isotopes have atomic masses and relative abundances of 45.953 amu (8.00%), 46.952 amu (7.30%), 47.948 amu (73.80%), 48.948 amu (5.50%), and 49.945 amu (5.40%).
6. Chromium has 4 naturally occurring isotopes: Cr-50 (4.35%, 49.946 amu), Cr-52 (83.79%, 51.941 amu), Cr-53 (9.50%, 52.941 amu), Cr-54 (2.36%, 53.939 amu). Calculate chromium’s atomic mass. 

